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Instructions regarding filling of OMR Sheet are | = 31UH.31R. ofic JFaf-erd fcer 30 ua3MR. offe W fera 31

PRI NAQE mentioned on the OMR Sheet only.

Adym P I a The duration of the exam s 12 Hours. = TRlen 3l 114 que &1 :
The Question Booklet consists of 100 Questions, | = g2 Udteln Yfeat # 100 e 2 d2ll U e 4 3il B
each with 4 Marks. The maximum Marks are 3 1 3R 3id 400 ¥
400.

@ Subject-wise division of 100 Questions are as| = e 100 Ul I fawear faavl s& UdR 3 : a1ftrd-25,
follows: Maths-25, Science-25, S.St.-20, firsi-25, AMGIG 31EARI-20, 3ia30-20 3 WD
English-20, MAT-10. AowdI Teur-10 ug |

&  Candidates will be awarded 4 Marks for the | = aﬂm@]ﬁwuﬁmﬁ4mmﬁ)—am|
indicated correct response to each question.

@  One mark will be deducted for the incorrect | =  aleid 3a? eI U2 Ufel U 1 3ic et IRIoM |
response to each question.

&  Space for rough work is also provided in the | Uﬁﬂlqﬁﬂﬂﬂﬁﬁmi\ﬁfﬁulﬂmﬁmaﬁﬂﬁ

Question Booklet. 2

—  "MATHS }—+«————

I01. 8 3N 11 & oI T Ry I&=AT & —

01. Two irrational number between 8 and 11 are:

|

(1) J65and (120 (2) /69 and 10.5 | (1) 65 3R 120 (2) J69 3R 10.5

(3) 8.2and 125 (4) 3and 110 | (3) 823125 (4) 33110
02. Which of the following is terminating: : 02. fFr=IfarRad # & &9 41 |id &—

13 31 9 13 31

85 405 4 54 : 857405 I ﬂ

13 I 13

(1) g @ 354 I M 55 @ 354

(3) M (4) None E) % (4) @r%
03. The negative of an irrational number is : | 03. U®H IIRAY AT HT RUTHD & —

(1) a rational number I (1) U aR¥T F=

(2) anirrational number | (2) TP JURHT =T

(3) a rational nunmber and an irrational number | (3) TP U ¥ET iR U URHT et

(4) a whole number | 4) Ux 11”1( T

Space for Rough Work
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2
1
Ifx:1+\/§,then (er;] 1S

afe x:l+\/§, dad (eri] -

04. | 04.
M) 242 @ 8 L m2p @ 8
3) 4-2 @) 42 | )42 @) 442
05. 2+(243)é is equal to : : 0s. 2+(243)é CRCEESS
(1) 2+3 @ 16 W 243 @) 16
3) 12 4) 6 | 3) 12 4) 6
06. 8(x—y)+5(y—x) in the form of factors is: | 06. 8(x—y)+5(y—x) & OrTES W o—
(1) 3(x+y) (2) l3(x—y) I (1) 3(x+y) (2) l3(x—y)
3) 3(x—y) @ l3(x+y) | 3) 3(x—y) @ l3(x+y)
07. Two points having same abscissa but different ordinate | 07. U 81 Yol dlel Wifdhe ATT—3HAT B dTet &I fofg Rera
lic on | g
(1) x-axis I (1) x-31e7
(2) y-axis | (2) y—31e1
(3) aline parallel to y-axis | (3) y—31&T & HAMIAR U ¥l IR
(4) aline parallel to x-axis | (4) x—31eT & TR Th V& R
08. The distance of the point p(4, 3) from the origin is | 0s. fa=g p(4, 3) D a5 T g &
(1) 4 ) 3 : (1) 4 ) 3
35 @7 | 35 @7
09. If the mirror image of the point P(6,2) in x-axis is the | 09. AT x—37e7 ¥ P fdg &I Uo7 Big fdg Q & 8k Q &I
point Q and the image Q in y-axis is R. then the | y—3eT A Bfd R &, @ R & M<9® §
coordinates of R are :
(1) (6,-2) (2) (-6.-2) | (1) (6,-2) (2) (-6.-2)
(3) @2.5) 4 (-6.2) | (3) @2.5) 4 (-6.2)
10. If (x+2,5) =(9,y+3), then find the value of x and y. | 10. 3 (x+2,5)=(9,y+3) & drx 3R y &1 71 s1d AR |
1 x=7,y=2 2) x=3,y=5 I 1 x=7,y=2 2) x=3,y=5
3) x=2,y=7 4 x=2,y=3 | 3) x=2,y=7 4 x=2,y=3
11. Boundaries of solids are | 11. ol & AN §
(1) Surfaces (2) Curves | (1) I8 (2) 9b
(3) Lines (4) Points I (3) Y @) farg
Space for Rough Work
PCP sikar Class : IX/P-5 I IT-JEE | NEET | OLYMPIADS 2
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12.

13.

14.

15.

16.

17.

18.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

The word geometry comes from the Greek word 'geo'
and 'metrein’ which means

(1) 'Geography' and 'meter’

(2) 'Globe' and 'meter’

(3) 'Go' and 'to measure'

(4) 'Earth' and 'to measure'

Which of the following needs a proof?

(1) Postulate (2) Theorem

(3) Axiom (4) Definition

The equation 2x+ 5y =7 has a unique solution, if x, y
are:

(1) Rational number (2) Real number

(3) Natural number (4) Positive real number

a 2 b 4 a+b
Ifz—g and ;—g,then bic is equal to
(1) 7:15 (2) 20:27
(3) 13:4 (4) 23:20

If (\E,—\E)lies on the graph 4x—3ay = \/E, then

the value of a is equals to
(1

3)0

3x +10=0 will have:
(1) Unique solution

(2) -1
4) 2

(2) Two solution
(3) Infinitely many solution (4) No solution

(az—b2)3+(b2—cz)3+(cz—a2)3:
(a—b)3+(b—c)3+(c—a)3

(1) (a+b)(b+c)(c+a)

2) 3(a—b)(b—c)(c—a)

3) (a—b)(b—c)(c—a)
(4) None of these

| 12, <IRfY w1 W wree TN Uus HleY ¥ 3T §

13.

14.

15.

16.

17.

18.

forerepT aref &
(1) ¥’ Tog Hie
(2) AN TUS HIeR

(3) ' TS W

(4) 31 qUS HOR

frferRaa & 9 fo ymmor &Y smasasar 87
(1) 3rf¥erRom () THI

(3) IRrrfed (4) afR¥TST

AHIGROT 2x+ 5y =7 B U& 3T 8 8, IS x, y
3

(1) aReg e (2) arfas e

(3) UThicid He (4) gTHD ATKADH =]
a 2 b 4 a+b

ﬁz-g&ﬁ?;—g,?ﬁﬁzﬁwg

(1) 7:15 (2) 20 : 27

(3)13:4 (423 : 20

aﬁ(ﬁ@ (\/5:_\/5),.4)6—361)/:\/5 & T IR Rerg
g dl g &AM BHMT |

(H 1 2 -1

30 “ -2
3x+10=0 @I &1 BII—

(1) s1fgeia g (2) T BA

(3) 3 Bl (4) BIS B LT

(az—b2)3+(b2—cz)3+(cz—a2)3:
(a—b)3+(b—c)3+(c—a)3

(1) (a+b)(b+c)(c+a)

2) 3(a—b)(b—c)(c—a)

3) (a—b)(b—c)(c—a)

(4) 379 9§ BIg T8l

Space for Rough Work
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19. Find the remainder when !® is divided by y2 — 3y +2 I 19. 10 BT 42 3y 42 I ARG B TR AYGB SETT?

(1) (2100 )x+(2_2100)
Q) (2100 ) (2100 )

(1) (2 -1)x+(2-2")
@ (2°-1)x+(2-2)
3) (2 +2)x+(2-2) (
@ (2% -1)x+(2+2)

20. The coefficient x in (x+3)3 18

(H 1 2 9
(3) 18 ) 27

3) (2 +2)x+(2-2)
@ (2% -1)x+(2+2)
20. (x+3) H x & d B

(H 1 2 9
(3) 18 ) 27

21. (x—y)(x+y)(x2+y2)(x4+y4) is equal to 21. (x—y)(x+y)(x2+y2)(x4+y4) @ R ©

|
|
|
I
I
I
I
I
I
|
|
|
|
(1) x16 +y16 (2) x8 _y8 I (1) x16 +y16 (2) x8 _y8
3) X+ 4) X'y I 3) X+ 4) X'y
22. Zeroes of a zero polynomial is : | 22. I 98US Pl AP & —
(1) Not defined 1 | (1) gR™TT =T8T ) 1
(3) Any real number 4 0 | (3) ®IS IRAIfdd =T (4) 0
|
(361)° + (139’ | (361)° +(139)’
23. Thevalue of (35107 361x139+(139)° : 23- Gel)y —361x139+(130) 7 T8
(1) 300 (2) 500 | (1) 300 (2) 500
(3) 400 (4) 600 I (3) 400 (4) 600
24. Value of x satisfying \/x +3 +/x—2 =5, 1is : 24, Jx+3++[x—2=5Px B BITAT A1 FIE Bl ©
(1) 6 2) 7 | (1) 6 @27
(3) 8 ) 9 I (3) 8 4 9
25. A rational number equivalent to a rational number o is I 25. UHh eI H@ EI% T U =T BRM—
n 5 14 | n 5 14
M 719 @ 57 I M 719 @ 57
|

Space for Rough Work
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26. CO, can be casily liquified and even solidified because | 26. CO, B JMAT A sfad fhar S Adhar § 3R o
| AT ST AHhdT & Rifh
(1) It has weak force of attraction | (1) SHH 3MHYT g1 HHOIR BIAT &
(2) It has comparatively more force of attraction than : (2) 399 3= Al Bl SR EEIC U ECE] @%Tl‘ccb_cf
other gases | 31 Bar ©
(3) It has more intermolecular space | (3) SHH IfRIeNad I+ 31ftid BIdT &
(4) It is present in atmosphere. | (4) I8 argHSd ¥ HIgE ©
27. Colourless plastids are known as I 27. ITEH WIRTS HEAT &
(1) Chromoplasts (2) Chloroplasts | (1) PHETERS (2) FARIARE
(3) Leucoplasts (4) Protoplast | (3) FPIERT (4) UIeIeRe
28. Which of the following has heighest kinetic energy? | 28. frferRad # 9 v TRy St waw s1fde &2
(1) Particles of ice at 0°C I (1) 0°C R % & BT
(2) Particles of water at 0°C | (2) 0°C W= YT & BT
(3) Particles of water at 100°C | (3) 100°C TR U & BT
(4) Particles of steam at 100°C | (4) 100°C WX Y & HIT
29. The barrier between the protoplasm and the outer I 29. Sig PRI § Siage SR &@l araraRy & 4
environment in an animal cell is | YR Il ©
(1) Cell wall | (1) ®Ifdrepr kT
(2) Plasma membrane | (2) o fRreedt
(3) Nuclear membrane : (3) Bsih f3reetl
(4) Cytoplasm | (4) PIRGT G
30. The colour of vapours formed on sublimation of solid | 30- SINT 3MATSH & ST R 7 dTef a1%7 BT T Il
iodine solid is I3
(1) Purple (violet) (2) Colourless : (D) 1‘? ) :fjnﬁ
(3) Yellow (4) Orange | 3) “4)
31. The phenomenon by which protoplast of a cell shrinks | 31. 9% GRS ST e® §RT PIRIBT BT HIETele <aR |
from the wall is | %—‘ﬁ_\d’r ST &
(1) Osmosis (2) Plasmolysis I (1) st (2) IRETCATS R
(3) Diffusion (4) Glycolysis | (3) ¥R (4) TATS DI
Space for Rough Work
PCP sikar Class : IX/P-5 I IT-JEE | NEET | OLYMPIADS 5
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32. A tissue whose cells are capable of dividing and re- I 32. 98 Hdd [STAS! BIRGN faora 84 e g fawfora

33.

34.

35.

36.

37.

dividing is called

(1) complex tissue

(2) connective tissue

(3) permanent tissue

(4) meristematic tissue

Kinetic energy of molecules is directly proportional to
(1) Temperature

(2) Pressure

(3) Both (1) and (2)

(4) Atmospheric pressure

Which of the following does not affect rate o
evaporation?

(1) Wind speed

(2) Surface arca

(3) Temperature

(4) Insoluble heavy impurities

If we burn graphite

(1) residue will be left

(2) no residue will be left

(3) it will not burn

(4) it will change into diamond
Brass is a

(1) Compound

(2) Element

(3) Homogeneous mixture

(4) Heterogeneous mixture
Anemometer measures

(1) Amount of haemoglobin in blood
(2) Pollination of plant by the wind
(3) Wind resistance

I
I
I
I
I
I
I
I
I
I
I
I
fl
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
(4) Wind speed |
]

33.

34.

35.

36.

37.

B9 H e Bl 8, deardl o
(1) Sifed Sdd

(2) IS FHdd

(3) =T Sdd

(4) fasaTdad SHdd

3ropait @Y TfaST St e Tt Bl @
(1) I &

() <99 B

(3) (1) 3R (2) T+l &

(4) argFSel T &
ferforRaa # & &9 A1 IR &1 TR Bl yHTfad T8
BT 87

(1) BT BT T

(2) HagE &=

(3) AT9EE

(4) srgerrefiel Wy argfat
I &9 AWIge SdTd @

(1) 3R g7 B

(2) PIS AT L] FoIIT
(3) UE STl e

(4) I8 R # 9 SR
YIaet &

(1) e

(2)

(3) AT ST

(4) TavASITd

THHRTER AIar 8-

(1) b # SHFAIST BT AT
(2) TAT §RT G T TRITOT
(3) Tas UfcRwEr

(4) BT BT A

Space for Rough Work

PCPer
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38. The cells of cork are dead and have a chemical in their | 38. @Ta$ @1 BRI Hd Bl & R S dari H Th
walls that makes them impervious to gases and water. | A AT © S 3% 114 3iR 9 & Uiy 3rier a=rar
The chemical is | HESIEER
(1) lignin (2) suberin | (1) o=y (2) gaRs
(3) cutin (4) wax | () &g 4) 99
39. Nanometer is an : . AR U& ©
(1) Instrument used for measuring micro-distance | (1) g4 @ A & forg TI<hH SURNT
(2) Instrument used for measuring macro-distance | 2) %—@ AU & forg TI<hH SURNT
(3) Unit for measuring micro-distance | (3) g A &) 3Pl
(4) Unit for measuring macro-distance | 4) [ @ AU &SPl
40. The flexibility in plants is due to a tissue called I . gl H ST 39 Sdd & BRUT BT §
(1) chlorenchyma (2) parenchyma | (1) FANRBISH (2) TP
(3) sclerenchyma (4) collenchyma | (3) TIRBISHT (4) PIT=BIZAT
41. A bus starting from rest moves with uniform acceleration | 41.. T a9 ™ I URY 8w 2 fAFe dF 01m/s® &
of 0.1 m/s? for 2 minutes. The distance covered by the I UHTHE RO I Il © | 99 §RT 9 &l T8 @ 5
bus is
(1) 720 m (2) 620m I (1) 720 . (2) 620 HI
(3) 320m (4) 520m. | (3) 320 . (4) 520 #.
42. 'PanchTatva' of life. | 42. Sfae @1 ‘g 8-
(1) Air, god, water, mother, father l (1) @1y, QOT, ST, e,
(2) Air, fire, earth, sky, water : (2) I1g, AR, e, 3P, Siel
(3) Air, god, water, soil, crop | (3) @1y, T, o, THEl, wad
(4) Air, god, water, yield, money | (4) 91Y, <o, Ofd, UG, 94
43. Intermixing of particles of two different types of matter | 43. <1 STT—31eRT UPR & Tt & Fol &1 317 MY 3T
on their own called............. I # et ST HEAT & |
(1) Dilution (2) Mixing | (1) TIPROT (2) st
(3) Diffusion (4) Precipitate | (3) TR (4) 3ra_TgT
44. An undefined nuclear region of Prokaryotes is known I . UIbRATCH & T raRATNT UNHTI] & Bl ... & Y
as H ST ST ®
(1) nucleus (2) nucleoid I (1) Bsh (2) dfgadr
(3) nucleolus (4) nucleic acid | (3) ~fdarad 4) fdatd TRYS
I
Space for IRough Work
PCP sikar Class : IX/P-5 I IT-JEE | NEET | OLYMPIADS 7
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45.

46.

47.

48.

49.

50.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Which is not the correct equation of motion?

1
() s :”ZJFEC’ZZ ) v —u? =2as

B)v=u—at @ v-u=at

Human cheek cells stained in methylene blue and

mounted in glycerine were observed with the help of a

compound microscope. The components of the cell

which were seen are

(1) cell wall, cytoplasm, nucleus

(2) plasma membrane, cytoplasm, nucleus, mitochondria

(3) plasma membrane, cytoplasm, nucleus

(4) plasma membrane, cytoplasm, nucleus,
mitochondria, lysosomes, Golgi bodies.

Which is a vector quantity?

(1) Weight (2) Mass

(3) Density (4) Volume

Identify the common feature of mitochondria and

plastids?

(1) Ability to produce ATP

(2) Presence of DNA and ribosomes

(3) Presence of matrix called stroma

(4) Deeply folded inner membrane

The girth of the stem or root increases due to

(1) Lateral meristem

(2) Apical meristem

(3) Intercalary meristem

(4) All of the above

Meristematic tissue is lacking of -

(1) nucleus (2) vacuoles

(3) protoplasm (4) cytoplasm

| 45, wfer o1 =) wiiaxor B w1 7 &7

46.
47.
48

49.

50.

1
(s :”ZJFEC’ZZ @) v —u* =2as

G v=u-at @ v-u=at

gl 9o O H TN iR R § enfY /e e
DI DIRIBIAT Bl Ueh WY AISHITHIY Bl HGq F 4
AT | PIRBT & I b 4 M T &

(1) DI kT, PIRIBEE, dwh

(2) ATSHT f37ectl, HISCIlToH, RfdeTad, HICIbi=gd

(3) “ATSHT [3Tecll, AISCIITH, s

(4) ATSHT f3Teell, AISCITATH, YfdeTdd, AIgCldbl g,
ATSHNM, ool dlere

BIESININIC B I
(1) AR (2) syHA
(3) g1 (4) I

. HEclplf~gar iR Wikes &) T fawivdr &l ggar?

(1) UEIT ST HRA &l &l

(2) STV 3R WZaH B SulRerfa
(3) M1 T™® HigHT BT IuReIfa

(4) TS A I g2 Wi fBreed)

T AT oS Bl O fhdd HRT g 87
(1) urefa fovr=arae

(2) vy fovrsarae

(3) STRD R HRICH

(4) SIRIH T

aRwHAfed e H T8 8 —

(1) B5h
(3) WerTsH

]
Space for Rough Work
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52.

53.

54.

(1) 4 )7

3)8 @6

Which of the following union territories are located in
western coast in India?

(1) Daman and Diu, Dadra and Nagar Haveli

(2) Chandigarh

(3) Andaman and Nicobar Islands

(4) None of these

A wet, swampy and marshy region in the Northern Plains
of India is known as

(1) Kankar

(2) Bhabar

(3) Khaddar

(4) Terai

In the map of India, the shaded portion shows :

(1) Northern plain region

(2) Southern plateau region

(3) Coastal region

(4) Coastal region and Ghat region

53.

54.

. India is divided into how many major physical divisions? | 51. ¥R fdha- yq wifcd gAmI # o &7

(1) 4 @7

() 8 4) 6

. F=faRad & 9 &9 a1 g wRid g<w 9Rd & gt
e IR Rerd &7

(1) <99 3R <9, STeRT 3R TR el

(2) TIUSITE

(3) 3ISAM 3R PR §IY W8

(4) T 9| Bl T8

IRA & ST e # a1, e iR &0 &7 .......
& B9 H SET T § |

(1) TR

() TR

(3) @R

(4) TIg

IRd & IHRE ¥, BRIifed N <9Il &

(1) ST HaT &

(2) <ferl gort &=

(3) AT U<

(4) I &1 T TIe &

Space for Rough Work

PCP, Sikar
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55.

56.

57.

58.

59.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

What is the importance of the concept of political equality

in a democracy? I

(1) It ensures equal distribution of wealth among citizens |

(2) It guarantees religious freedom for all citizens |

(3) It ensures that every citizen has an equal right to |
vote and participate in decision-making

(4) It promotes economic development and prosperity

What is a direct democracy?

(1) People elect representatives

(2) People directly participate in decision-making

(3) Rule by kings

(4) Rule by military

Which of the following statements is true?

(1) In a democracy, the majority and minority opinions

are not permanent

(2) In a democracy, it is also necessary that rule by the
majority does not become rule by the majority |
community in terms of religion or race or linguistic |
group |

(3) Democracy remains democracy only as long as every |
citizen has a chance of being in the majority at some :
point in time |

(4) All of the above I

Raiganj is |

(1) A big village I

(2) Palampur's neighbouring village |

(3) An industrial town |

(4) Both 1 and 2 I

How many requirements are there for production of |

goods and services? I

(1) Five |

(3) Four |

(2) Three
(4) Uncountable

56.

57.

58..

59.

| 55, dlbdd ¥ VoHIiae THEd] P STGEROT 6T 7T 98cd

g7

(1) I8 ANTRDT & d1d & BT FAM TR GRRad ol &

(2) I8 T ARTRDT & fory enffies e T TIRET <l &

(3) I8 GH¥ad &_ar © & UAd ARTRS Pl dic a1
3R foofar @9 & 9T o9 &1 |A SR §

(4) I8 anfdfe e iR wyfg &1 dgrar <ar &

TeT Albas T 87

(1) Srar afafafert &1 g el @

(2) ART T o o= 3 9T ofd ©

(3) ISTRI ERT I BT

(4) T T 9T

frforRad & & B9 1 BeF I 87

(1) didhda # 9gad 3R AT E Bl I IR T8l
BT &

(2) AHd= | T8 I 3MaeIS © b AT BT ATAA &
T A AT AIVTS TG o SR IR TE D TR
CARUNE R RSID]

(3) dlddd T dF Aldbaa J8dl § od db Idd
ANTRe b1 AT qHY agdd | B9 &1 HIbT e

(1) T el g

(2) UTARYR BT gl AT
(3) U fEfie TR

(4) 1 3R 2 I

JEI3N B ITE SR Harstl & o7y foaeil sraegapang
8?

(1) df=
(3) IR

(2) T
(4) SYAR

]
Space for Rough Work

PCP, Sikar
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60.

61.

62.

63.

64.

65.

66.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Some 7,000 men and women gathered in front of the
town hall and decided to forma ............7

(1) Peoples' party

(2) Peoples' militia

(3) Peoples' democracy

(4) Peoples' presence

Which group of people did not join the Jacobin Club?
(1) Artisans

(2) Shopkeepers

(3) Daily wage workers

(4) Men with property

What does the word livres stand for?

(1) Unit of currency in France

(2) Tax levied by the state

(3) Tax levied by the Church

(4) Tax to the Landlord

When did the fall of Bastille take place?

(1) 14 July 1789 (2) 20 June 1789

(3) 4 August 1789 (4) 5 May 1789

In the year Napoleon Bonaparte was
defeated at the Battle of Waterloo.
(1) 1814 (2) 1813
(3) 1815 (4) 1816

When did the socialists take over the government in
Russia?

(1) October Revolution in 1917

(2) November revolution in 1917

(3) December revolution in 1919

(4) February revolution in 1920

Who started 'Collectivisation Programme' in Russia?

| 60. wmrm 7,000 qoY 3iR ARV 1S Bl & AW Ul

BU 3R UH A 1 ol forar?
(1) Hrgew uret
(2) "gew faferRr

(3) ST BT ldhdH
(4) ST BT IURATA

. 9 |8 & ART SIplfa Fotd o enfirer 181 gu?

(1) PR

(2) SPTR

(3) faBTST 7olgR
(4) HURY aret goy

. Toraws wreg &1 T 31 87

(1) Wi 4 g1 & 3BT

(2) 5T ERT ST S aTeT R
(3) T §RT ST ST aTelT v
(4) SHIGR &1 R

. SRee BT U H9 gIT?

(1) 14 TS 1789 (2) 20 T[A 1789
(3) 4 3T 1789 (4) 5 93 1789
H d1eee] & Jg H YIfeRI dHme & 8R

8s ol

(1) 1814
(3) 1815

(2) 1813
(4) 1816

. o ¥ gEToaredt | wd T ATl ?

(1) 1917 BT dcaR hifd
(2) 1917 # FdaR wifer

(3) 1919 BT TEHaR wifeT
(4) 1920 BT BRI HifaT

. Y H AHRHIERY HRIHH fha e fbar?

(1) Lenin (2) Karl Marx (1) o= (2) Pet AT
(3) Rasputin (4) Stalin (3) TgfoA (4) ®Ifer
l
Space for Rough Work
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68.

69.

70.
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During the February Revolution, what sparked the mutiny

among the soldiers? |

(1) Some of the troops were disseminating Bolshevik
propaganda within the ranks

(2) The soldiers did not have enough food to eat

(3) The troops were revolted by the idea of firing upon
fellow Russians

(4) They were paid off by German spies

What was the movement demanding the rights to vote

for women called?

(1) Russian orthodox' Christianity Movement

(2) Suffragette Movement

(3) Social Democratic Party Movement

I

I

I

I

I

I

I

I

I

I

I

I

I
(4) Revolutionary Movement |
What was collectivization? I
(1) Private farming |
(2) Industrial reform |
(3) Policy to combine individual farms |
(4) Trade policy |
What was the major effect of the Russian Revolution :
on the world? |
(1) Spread of socialism |
(2) Economic depression |
(3) Rise of monarchy :
|

(4) Decline in industrialization

68.

69.

70.

| 67. BRI Hifd & IRHE el & 9 fagis g sro

HSPHI?
(1) ®&B 4HF Bl & AR SIRIMAE TR hell @ o

(2) ¥ & I @H & forv qafe Ao J8 e

(3) et wRA R Mell I & foar 9 dfe! =
fagTs & fe=

(4) S8 S SIRGET GRT 93 fdBaT Ir=m o

AfE eIl &l dlc <7 & IMRIBR &I ART B dTel aTed

DI T HET TAT?

(1) S wfeard! $9T8 o 3MaTe

(2) IRRIC 3MaTed

(3) AT SHIhISH Tt Jrigrerd

(4) PIABRT 3NETA

ArHfedhdr @ar Ar?

(1) fooh el

(2) 3ERTe |Er

(3) 3TAT—3TAT Well Bl ™ & i

(4) @@UR A

Wl Hifd &1 f9ea IR gq@ gaqTg a1 o1?

(1) HHSTATE BT TR
(2) 3@

(3) VSRS BT 333

(4) SiErfieRe # fRmee
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72.

73.

74.

75.

Choose the correct reported speech form:

She said, "I am reading a novel."

(1) She said she was reading a novel.

(2) She said she is reading a novel.

(3) She said she had read a novel.

(4) She said she has been reading a novel.

Select the correct conversion to reported speech:
He asked, "Can you help me with this project?”
(1) He asked if I can help him with this project.
(2) He asked if I could help him with that project.
(3) He asked whether I help him with that project.

(4) He asked whether I will help him with this project.

Identify the correct reported speech form:

"I will visit you tomorrow," she promised.

(1) She promised that she would visit me tomorrow.
(2) She promised she will visit me the next day.

(3) She promised that she would visit me the next day.

(4) She promised to visit me tomorrow.

Choose the correct conversion into reported speech:
"Why didn't vou attend the meeting?" he asked.
(1) He asked why I haven't attended the meeting.
(2) He asked why I hadn't attended the meeting.
(3) He asked why I didn't attend the meeting.

(4) He asked why hadn't I attended the meeting.
Select the appropriate reported speech form:
"Please, don't make so much noise," he said.

(1) He said not to make so much noise.

(2) He asked to not make so much noise.

| 76.

77.

78.

79.

80.

81.

Choose the correct form of the verb to complete the
sentence:

By the time she arrives, I (finish) my
homework.

(1) will finish (2) will have finished

(3) finished (4) am finishing

Select the appropriate tense for the following sentence:
Ifshe ~~ (study) harder, she would have
passed the exam.

(1) studies (2) studied

(3) had studied (4) has studied

Identify the correct verb form for this sentence:

By next month, he (work) at the company
for ten years.

(1) will work

(2) will be working

(3) has worked

(4) will have been working

Which verb form correctly completes the sentence?

She (read) the book by the time we meet.

(1) will read (2) will have read

(3) reads (4) read

Choose the correct verb form:

They (not see) each other for years.

(1) have not seen (2) has not seen

(3) shall not see (4) did not see

Select the correct verb form to agree with the subject:
Neither of the boys (like) the new movie.

(3) He requested that we not make so much noise. (1) like (2) likes
(4) He requested not to make so much noise. (3) have liked (4) liking
Space for Rough Work
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82.

83.

84.

85.

86.
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Choose the appropriate verb form:

The team (be) winning their matches regularly.
(D is (2) are
(3) were (4) has been

Identify the correct verb form:

Each of the students (have) a laptop.
(1) have (2) has
(3) do not have (4) having

Choose the correct verb form for agreement:

The news (be) good.
(1) are (2) were
3)is (4) being

Select the correct verb form:

Neither the teachers nor the principal
about the change.

(1) knows (2) know

(3) knowing (4) had known
Choose the correct modal verb to complete the sentence:
You

(1) should
(3) must

(be) more careful while crossing the road.
(2) can
(4) may

(know)

l 87. Sclect the appropriate modal verb:

8

8

9

8.
9.
0.

She (be) at the office right now, but I'm not
sure.

(1) must (2) should

(3) might (4) could

Identify the correct modal verb:

You (not smoke) in this arca.

(1) should (2) must not

(3) might not (4) could not

Choose the appropriate modal verb:

He (finish) the project by the deadline.

(1) should (2) must

(3) can (4) will

Select the correct modal verb for the sentence:

I (be) able to help you with that if you ask me
carlier.

(1) could (2) should

(3)y will (4) may

Space for .Rough Work
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92.

93.

94.

. Which digit will appear on the surface opposite to the
surface with digit 67

2 6
3 3
1 5
(1)2 Q)5
(3)4 @1

relation between Travelers, Train and Bus?

(1)@0 OO
(D m

Tom walked 10 m towards north then turned right and |
walked 25 m. Then he turned right and walked 30 m. |
Now he turned left and walked 10 m. Finally, he turned |
left and walked 20 m. How far and in which direction s |

I

I

I

I

I

I

I

I

I

Which of the following diagrams indicates the best I
I

I

I

2 I
I

I

I

I

I

I

he from the starting point?
(1) 50m East
(3) 40m North

(2) 30m North
(4) 35m East
If 'green' is called 'white' , 'white' is called 'vellow' ,

I

I

I

I

I

'vellow' is called 'blue', 'blue' is called 'pink' and 'pink’ is I
called 'black’, then what is the colour of milk? I
I

I

I

91.

92.

93.

94.

3 6 ATl Adg & IuRId Idg IR hIF 971 3k fewrs
T?

(1) 2 (2) 5
(3) 4 ) 1
fr=rfaRaa # 9 @ a1 R AR, ¢ iR a9 & i
T 31 HeET BT T 872
OO

(1) @ O @)
Ne1d w.

T IR &I 3R 10 e T, T IT¢ T 3iR 25 Wiy
oI | The g8 Q1T HST 3R 30 Hex dell | 314 I8 ardi
3R gl 3R 10 AIex =rell | 3fd H, I8 ardl 3R g 3R
20 HIeR =l | a8 AR fdg A fdbaeit g 3iR fove famm
H 87

(1) 50 HIex gg (2) 30 Hiex TR

(3) 40 Hiex TR (4) 35 Hiex g4

AT Bl ‘BIAT HET SIY, Al g8 Pl W &1 57

(1) green (2) blue (1) 81 (2) e
(3) pink (4) yellow (3) T (4) drer
l
Space for Rough Work
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95. Choose one word which can be formed from the letters | 95,

of the given word : IMMEDIATELY |

(1) DIALECT (2) LIMITED
(3) DIAMETER (4) DICTATE

T F1e& I Gl fQU T 3eq & JA&TRT A ST ST Febell
& IMMEDIATELY
(1) DIALECT

(3) DIAMETER

(2) LIMITED
(4) DICTATE

I
I
I
96. Choose missing number in the series | 96. sjwgen & o < o
0,6, 24,60, 120, ?,336 : 0, 6, 24, 60, 120, 7, 336
(1)220 (2) 240 | (1) 220 (2) 240
(3)280 (4210 | (3) 280 (4) 210
97. Number of letters skipped in between the adjacent letters | 97. ST # TH~ ARl & 419 BIS MY 3MeRT DI H=AT 3
in the series are multiples of 3.Identify that | b TorST 2 | U P
(1) AELPZ (2) DHLPU I (1) AELPZ (2) DHLPU
(3) GKOTZ (4) LORUX | (3) GKOTZ (4) LORUX
98. The sum of the ages of a father and a son presently are | 98. THM # U& fUar iR 93 B 3 Bl ART 70 99 T | 10
70 vears. After 10 years the son's age is exactly half | IV 91 IF I 7Y 94T &1 3R ¥ SIep 3MEN T8 Sl
that of the fathers age. What are their ages now ? | T | 319 I SH T &7
(1) 45 years, 25 years I (1) 4574, 2509
(2) 50 years, 20 years | (2) 50ad, 20a9
(3) 47 years, 23 years | (3) 477d, 23a9
(4) 50 years, 25 years | (4) 5004, 2509
Analogies ( Q.99 to Q.100) : l Analogies ( Q.99 to Q.100) :
99, 3:11::7:7? :99.3:11::7:?
(122 (2) 29 | (1) 22 (2) 29
(3) 18 4)51 I (3) 18 (4) 51
100.Red Fort : Delhi : : Taj Mahal : ? | 100.a1et foper : feee : : aret w8et @ ?
(1) Agra (2) Mysore I (1) 3R (2) I’
(3) Chennai (4) Hyderabad | (3) I=1% (4) TRIEE
Space for IRough Work
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